ALPOLIC and ALPOLIC/FR (FIRE RESISTIVE)
COMPOSITE WALL PANEL SYSTEMS FOR
SMALL MISSILE IMPACT

GENERAL NOTES

THESE ALPOLIC AND ALPOLIC/FR COMPOSITE PANELS SHALL BE USED FOR WALL CONSTRUCTION,
SOFITS, AND OTHER EXTERIOR DETAILS WHOSE REQUIREMENTS FOR POSITIVE AND NEGATIVE
PRESSURES ARE WITHIN THEN VALUES STATED IN NOTE 2 OF THIS DRAWING. EACH ACTUAL WALL
PROJECT SHALL BE CONSTRUCTED USING THE DETAILS SHOWN ON THESE DRAWINGS AS MINIMUM
REQUIRED SPECIFICATIONS
2. THE WALL DESIGN ALLOWABLE PRESSURES FOR THESE WALL PANEL SYSTEMS ARE:
21. KISTLER McDOUGALL EXTRUSIONS: + 153 PSF/ -153 PSF
2.2. SAF METAL FABRICATION EXTRUSIONS: + 70 PSF/-90 PSF.

MATERIAL SPECIFICATIONS:

3. THESE ALPOLIC and ALPOLIC/fr COMPOSITE WALL PANEL SYSTEMS ARE TESTED
IN ACCORDANCE WITH THE FOLLOWING PROTOCOLS PER THE CURRENT EDITION OF THE FLORIDA BUILDING CODE:

TAS-201-94, IMPACT TEST, SMALL MISSILE
TAS-202-94, UNIFORM STATIC AIR PRESSURE TEST
TAS-203-94, CYCLIC WIND PRESSURE TEST

AND THEY SHALL BE INSTALLED AS SHOWN IN THESE APPROVED DRAWINGS.

ALUMINUM EXTRUSIONS

1. MATERIAL: M2, F2, A2, HS, and HR ARE EXTRUDED ALUMINUM ALLOY 6063 WITH A T6 TEMPER By Kistler McDougall.

2. MATERIAL: 37893 (CAY-1009) TEE, 37894 (CAY-1010) FEMALE, 37899 (CAY-1011) MALE, 385008 (CAY-1012) STIFFENER
AND 38499A (CAY-1013) RETAINER ARE EXTRUDED ALUMINUM ALLOY 6063 WITH A T6 TEMPER By SAF Metal Fabication
(FORMALLY CAY ARCHITECTURAL PRODUCTS).

3. FINISH: MILL FINISH

COMPOSITE PANEL

1. ALPOLIC AND ALPOLIC/FR ALUMINUM COMPOSITE METAL PANEL 4MM THICK (0.157") AND 6MM THICK (0.236")
AS MANUFACTURED BY MITSUBISHI PLASTICS COMPOSITES AMERICA, INC., CHESAPEAKE, VA

2. CORE: THERMOPLASTIC MATERIAL WHICH IN COMPOSITE ASSEMBLY MEETS
PERFORMANCE CHARACTERISTICS SPECIFIED.

3. FACE SHEET: 0.020" ALUMINUM 3105-H14 ALLOY

4. FINISH: FLUROPOLYMER RESIN COATING.

5. MAXIMUM DIMENSIONS: 62" WIDE X 288" LONG

7. TECHNICAL DATA
DESCRIPTION TEST 4MM ALPOLIC 4MM ALPOLIC/fr 6MM ALPOLIC
SPECIFIC GRAVITY 1.38 1.90 1.23
WEIGHT 1.12 LB/SQ.FT 1.56 LB/SQ.FT 1.50 LB/SQ.FT
TENSILE STRENGTH ASTM E-8 7452 PSI 5693 PSI 5399 PSI
YIELD STRENGTH ASTM E-8 NDY NDY NDY
ELONGATION ASTM E-8 16% 8% 13%
PUNCHING SHEAR RESISTANCE (1"DIA.) ASTM D-732 4025 PSI 4637 PSI 2816 PSI
PUNCHING SHEAR MAX LOAD ASTM D-732 1920 PSI 2259 PSI 2121 LBS
BOND INTEGRITY VERTICAL PULL ASTM C-297 1806 PSI 427 PSI 1664 PSI
DRUM PEEL ASTM D-1781-76  33.6 IN-LB/IN 27.6 IN-LB/IN 33.6 IN-LB/IN
FLATWISE SHEAR ASTM C-273 1225 PSI 949 PSI 1195 PSI
RATE OF BURNING ASTM D-635 CC1 - -
FLAME SPREAD INDEX ASTM E-84 00 00 00
SMOKE DEVELOPED INDEX ASTM E-84 00 10 10
SELF IGNITION TEMPERATURE ASTM D-1929 752°F 837°F 752°F
FLASH IGNITION TEMPERATURE ASTM D-1929 716°F 811°F 716°F
SURFACE FLAMMABILITY ASTM E-108-88 PASSED PASSED PASSED
SOUND TRANSMISSION ASTM E-413 STC-26 - STC-26

FRAMING & ACCESSORIES

1. STEEL STUDS AND TRACKS: 16 GA. MIN. GALVANIZED STEEL WITH MIN. PROPERTIES OF 50 KSI YIELD, 65 KSI ULTIMATE.

STUD & TRACK FASTENERS: #12 x 1-1/2" HEX WASHER HEAD HEAVY DUTY TEKS 4, 4.5, OR 5 BY ITW BUILDEX SCREW OR
STUD & TRACK FASTENERS: #12 x 1-1/2" HEX WASHER HEAD TEKS SELECT BY ITW BUILDEX SCREW.

PANEL FASTENERS: #10 x 1" HEX WASHER HEAD ITW BUILDEX TEK SCREWS SPACED AT 16" O.C.

STIFFENER FASTENERS: #10 x 1" HEX WASHER HEAD ITW BUILDEX TEK SCREWS.

JOINT SILICONE: DOW CORNING #795 SILICONE SEALANT.

STRUCTURAL SILICONE: DOW CORNING #1199 SILICONE SEALANT.

BACKER ROD: 3/4" DIA. DENVER FOAM OPEN CELL BACKER ROD.

THE STRUCTURAL ADEQUACY OF THE 16 GA. GALVANIZED STEEL STUDS AND THE REST OF THE STRUCTURAL

FRAMING SUPPORTING THE METAL PANELS IS NOT PART OF THIS PRODUCT CONTROL APPROVAL
AND IT SHALL BE REVIEWED BY THE STRUCTURAL PLANS EXAMINER OF THE CORRESPONDING BUILDING DEPARTMENT.

N

©® N ook~ w

Digitally
signed by
-, Robert J
'._‘u*",_
:°2 Amoruso
1 :z=5 . PTC PRODUCT DESIGN GROUP, LLC
e v E Date: Y PO BoX 520770
SRRSO LONGWOOD, FLORIDA 32752
¢ RN 2022031 7 r FBPE C.A. NO. 25935
"”":.L'.’A?;\h\\““ ' L Phone: 321.690.1788,Fax: 321.690.1789)
’I 6.30.22 Email: info@ptc-corp.com
-04'00' DNERSONE AR e CONTRACTNO. MITSUBISHI CHEMICAL COMPOSITES
TOLERANCES ARE:
FRACTIONS ~ DECIMALS  ANGLES AMERICA, INC.
Robert J. Amoruso, P.E. t 2 i;x: 2885 £ APPROVALS DATE
FL P.E. No. 49752 TR SRRV ALPOLIC and ALPOLIC/fr
6 |RJA[4/14717 [ CRANGE T MITSUBISHT CREMICAL
5 RJA4/24/14 UPDATE TO CURRENT EDITION OF THE FBC ENGINEERING COMPOSITE WALL PANEL SYSTEMS
T L T S e MS 11/11/02
3 T‘_l /10/12 e — PROJ MGMT SIZE | CAGE CODE DWG NO. REV
EXTRUSTH CHaneEs MPCA0002
TH |9/01/09] GeN NoTe 1 vas waLL e PRODUCTION B °
REV. | BY DATE CHANGE DONOT SCALE DRAWING SCALE SHOWN | SHEET 1 OF 11




15'-0 1/2"

FRAME OUTSIDE DIMENSION
, 14-9 1/2"
11/2 - / 11/2"
FRAME INSIDE DIMENSION ]
12
1/2" PANEL DIMENSION __(_ 1/? PANEL DIMENSION /27 ||
w
= ADDITIONAL STUD @
- AT PANEL JOINT‘\ 4
I L [ I [ L L [ [ [ L L [ I
| |1 |1 \: |1 |1 |1 |1 |1 |1 |1 |1 |1 |
| |1 |1 |1 |1 |1 |1 |1 |1 |1 |1 |1 |
i o o X X X X K K X X I
‘Q:'_ | | | STIFFENER = || N N || I I N N I |
- i I ] ] | ] i
-1 t-++--+7r---—t-------tt+r--]-- -ttt tt--———--- 4+t - - —— -t - —
.5 e e e e e e [ e e et e e I e I I B A
= | |1 |1 | |1 |1 a |1 |1 |1 |1 |1 |1 |1 |
% o . | |1 |1 | |1 |1 |1 |1 |1 |1 |1 |1 |1 |
o .| 3% R R N 1 \4/ 11 N I I I I I |
Z S ¥ F ./ | | | STIFFENER — | | | I | | I I I | | I |
g |2 = — | N /ll | || N N || I I N N I |
~ | O o~ Y o | |1 |1 | |1 |1 |1 |1 |1 |1 |1 |1 |1 |
Sl |3 = I 1 |y A g Py [ A [ ANy [ AU [ Spp |
w | 2 o = s e L | I [ e I O O I [ N ) ) P B
] v | o = | |1 |1 | |1 |1 |1 |1 |1 |1 |1 |1 |1 |
7|3 | - JEN| B G | | | | | I
= S
sy (o4 O 1 ! | | | i i | | RS,
~N | — |
g E > \y | |1 I\\5JI |1 |1 |1 |1 |1 |1 |1 |1 |1 | \y
o | I I | I I I I I I I I I | oPPOSITE
| | 1 |1 | | 1 | 1 | 1 | 1 |1 |1 | 1 | 1 |1 |
= 0 o B B B B i i B B o
Jeg || I . D i i I i .
I Z& | || | | | || || | | | || || | |
— o= | | |1 | |1 |1 |1 |1 |1 |1 |1 |1 |1 |
o | |1 |1 | |1 |1 |1 |1 |1 |1 |1 |1 |1 |
‘ | | :\ |1 | |1 |1 |1 |1 |1 |1 |1 |1 |1 |
[ L y - ! - - - - - - - - - !
\ /
: “N \/ 1Y opposiTe i
™ = 246 — 16 GA, METAL STUDS Digitally
- @ 16" 0.C. signed by
= R o b e rt J PTC PRODLJSLE)»E(S;?OI\; 7G5ROUP‘ LLC
Amoruso N E ooz
THE WOOD BUCK FRAME DETAILED IN THIS DRAWING Date: o oamorom
IS FOR TEST PURPOSES ONLY AND IS NOT INTENDED 2022.03.17
AS A RECOMMENDATION FOR ACTUAL CONSTRUCTION. 16:30:33 Kistler McDougall
0400 B MITSUBISHI CHEMICAL COMPOSITES
PANEL ELEVATION il AMERICA.INE.
XXt 005 APPROVALS DATE
— ROEﬁF‘PJ-EAg‘Of:;%;E- ALPOLIC and ALPOLIC/fr
3/4" =1'-0 e g COMPOSITE WALL PANEL SYSTEMS
|COMPOSITES AMERICA EET MS 11/11/02
5 ?JA 4/24/14\PIATE T IR EvTIN O T FRC PROJ MGMT SIZE | CAGE CODE DWG NO. REV
4 |RJA | 6/10/12 [wome ® 20 B MPCA0002 6
1/10/12 st PASTCS COMPOSIES WS WSUBRH GHEMOL PRODUCTION
Rgvv .EY-I /DAT/E CHANGE DONOT SCALE DRAWING oouere SCALE SHOWN [sweer 2 OF 11




CONNECT WOOD BUCK FRAME

TOGETHER WITH (3) 5/16” DIA.
LAG BOLTS EACH CORNER (TYP.)

15/8"

1

L
15/8"

METAL STUD

15'-0 1/2"

WOOD BUCK FRAME

11/2"

11/4”

11/4”

6 1/4”

STEEL TRACK

STUD FRAMING ELEVATION

GALV. METAL STUDS
50 KSI YIELD (TYP.)

3/ n = 1!_0"

s, W
/ VA )
TATO

Digitally signed by
Robert J Amoruso
Date: 2022.03.17
16:30:44 -04'00'

Robert J. Amoruso, P.E.
FL P.E. No. 49752

RJA

4/14/17 | cowrosmes avericn

11/2" 14'-9 1/2" METAL STUD FRAME DIMENSION
6" 16 GA. GALV. METAL TRACK ADD A STUD AT 2 x 10 WOOD BUCK FRAME
: TYPICAL TOP & BOTTOM PANEL JOINT LOCATION / AROUND OUTSIDE PERIMETER
N\
\
= /
o
L wn
= =
2 =
b a
S Y
@ &
8 L
g =
wn
=
~
S =
T
S
Yo}
R
0
/
/
~
=
9 1/2" 11_411 11_411 11_411 11_411 11_411 11_411 11_411 11_411 11_411 11_411 811
| | | ] | | | |
CENTERLINE DIM.
) ” (TYP.)
2-7 3/4 6" x 1-5/8" 16 GA.

THE WOOD BUCK FRAME DETAILED IN THIS DRAWING IS FOR TEST PURPOSES
ONLY AND IS NOT INTENDED AS A RECOMMENDATION FOR ACTUAL CONSTRUCTION.

PTC PRODUCT DESIGN GROUP, LLC
PO BOX 520775
LONGWOOD, FLORIDA 32752
FBPE C.A. NO. 25935
Phone: 321.690.1788,Fax: 321.690.1789
Email: info@ptc-corp.com

Vg7 =

Kistler McDougall

UNLESS OTHERWISE SPECIFIED
DIMENSIONS ARE IN INCHES
TOLERANCES ARE:
FRACTIONS DECIMALS ANGLES
1132 XXt 01 R
XXXt 005

CONTRACT NO.

MITSUBISHI CHEMICAL COMPOSITES
AMERICA, INC.

APPROVALS

DATE

MATERIAL

RJA

4/24./14. UPIATE 70 CURRENT EDVION OF THE FEC

FINISH

RJA

6/10/12 [menzn

(&1 B (8] (=]

1/16/12 rsBen rASTES courostES ws W ML

DRAWN

ENGINEERING

MS

11/11/02

ALPOLIC and ALPOLIC/fr
COMPOSITE WALL PANEL SYSTEMS

PROJ MGMT

o
m
2

. BY

DATE CHANGE

DO NOT SCALE DRAWING

PRODUCTION

SIZE | CAGE CODE DWG NO. REV
B MPCA0002 6

SCALE SHOWN |SHEET 3 OF 11




#12 x 1 1/2” HWH WOOD SCREW
@16” 0.C. TO MAIN STRUCTURE

ATTACH EACH STUD TO TRACK
W/ #12 x 1 1/2" HWH

ITW' BUILDEX TEK SCREWS
TWO (2) EA. SIDE

THE WOOD BUCK FRAME DETAILED IN THIS DRAWING
IS FOR TEST PURPOSES ONLY AND IS NOT INTENDED
AS A RECOMMENDATION FOR ACTUAL CONSTRUCTION.

2 X 10 WOOD BUCK FRAME
CONNECT FRAME TOGETHER WITH
(3) 5/16" DIA. LAG BOLTS
DOW CORNING *795 SILICONE

SEALANT & 3/4” DIA. OPEN CELL
BACKER ROD (TYPICAL)

T

I
9/16"

r

g

#10 x 1" HWH TEK SCREW
16" 0.C. TYPICAL EACH PANEL

4MM OR 6MM ALPOLIC—/

|5

1=
-

[

—<H I

EXTRUSION |
OR 4MM ALPOLIC/fr 2 1/4
ALUMINUM COMPOSITE MIN.
PANEL 6" X 16 GA. \ = L
GALV. STEEL STUD r ’ \ \
16" 0O.C. Y= = #12 x 1 1/2” HWH TEK SCREW
) o L] 16" 0.C. (FASTEN TO STUDS)
1/2"
DN
1 DETAIL S
\\4/ SCALE: 6" = 1° : PLASTIC SHIM SPACE
(AS REQUIRED)
BACKER ROD - .
AND SEALANT 1/18
6" X 16 GA.
GALV. STEEL STUD
HS EXTRUDED ALUMINUM F2 ALUMINUM 16" 0.C.
PANEL STIFFENER EXTRUSION
§ _ /"3 JOINT DETAIL
#12 x 1 1/2" HWH TEK SPACE —
16" 0.C. (FASTEN TO STUDS) W SCALE: 6" = 1
DOW—CORNING #1199
SILICONE SEALANT
PLASTIC SHIM SPACE
JH— (s reaureD) Digitally signed by PTG PRODUCT DESIGN GROUP,LLG
LONGWOOD, FLORIDA 32752
/ e Robert J Amoruso F—hN& o
HR EXTRUDED ALUMINUM " Email: info@ptc-corp.com
PANEL STIFFENER ., orFEL STUD Date: 2022.03.17 .
L 16:30:54 -04'00" Kistler McDougall
. :30:54 - eSS e SO [ O MITSUBISHI CHEMICAL COMPOSITES
TOLERANCES ARE:
Robert J Amoruso P E FRACTIONS DECIMALS ANGLES AMERICA! INC'
2 1/4" MIN——] . , P.E. t 132 XX : 01t R APPROVALS DATE
/ 2"\ STIFFENER DETAIL PP Nodorss et " ALPOLIC and ALPOLIC/T
W SCALE. 6" = 1 g ;:Q:ZZ:me“mmw“m e COMPOSITE WALL PANEL SYSTEMS
= FINISH
45 ;%Aef;og/::ﬂ':n;__ PROJ MGMT SIZE | CAGE CODE DWG NO. REV
2 [ TH [ 8/01/11[mowe re sawnm mocx PRODUCTION MPCAOD02 6
Rev. | BY | DATE | crAnGe DO NOT SCALE DRAWING SCALE_ SHOWN] [sweer 4 OF 11

S ———

— T
::::::9\
#12 x 1 1/2" HWH TEK SCREW

16" 0.C. (FASTEN TO STUDS)

PLASTIC SHIM SPACE
(AS REQUIRED)

\_ A2 ALUMINUM

!

#10 x 1" HWH TEK SCREW
16" 0.C. TYPICAL EACH PANEL

2 1/47_ |

MIN. /7

M2 ALUMINUM
EXTRUSION




6” X 16 GA.
GALV. STEEL STUD
16” 0.C.

THE WOOD BUCK FRAME DETAILED IN THIS DRAWING
IS FOR TEST PURPOSES ONLY AND IS NOT INTENDED
AS A RECOMMENDATION FOR ACTUAL CONSTRUCTION.

|

#12 x 1 1/2” HWH TEK SCREW
16” 0.C. (FASTEN TO STUDS)

SHIM AS REQUIRED

— A2 ALUMINUM

EXTRUSION

T 1"
JLi-

1/2”

2 X10 WOOD BUCK FRAME
CONNECT FRAME WITH
(3) 5/16” DIA. LAG BOLTS

DOW CORNING *795 SILICONE
SEALANT & 3/4” DIA. OPEN CELL
BACKER ROD (TYPICAL)

\4MM OR 6MM ALPOLIC

OR 4MM ALPOLIC/fr
ALUMINUM COMPOSITE
PANEL

#10 x 1" HWH TEK SCREW
16" 0.C. TYPICAL EACH PANEL

@ DETAIL
5 SCALE: 6” = 1’

CENTERLINE OF  __| | CENTERLINE OF
METAL STUD PANEL JOINT
"
6" x 16 GA.
GALV. STEEL STUD
16" 0.C.
#12 x 1 1/2” HWH TEK SCREW
16" 0.C. (FASTEN TO STUDS)
SHIM AS
REQUIRED
=
ED%\% F2 ALUMINUM
— EXTRUSION
2 /4" M2 ALUMINUM —
MIN. EXTRUSION ERSLR
peerbid8 L
7 HEd 1.1/16"
N=S !
N
12" —

#10 x 1" HWH TEK SCREW
16” 0.C. TYPICAL EACH PANEL

it
O 3
PEAK C\GEN

y Digitally signed
§%?, by RobertJ
Amoruso

52
No 49752 “ 0%

S5 2022.03.17
16:31:06 -04'00"

', 2
“030,, ON AL Bl
125955p3000Y

Robert J. Amoruso, P.E.
FL P.E. No. 49752

UNLESS OTHERWISE SPECIFIED

—— DOW CORNING *795 SILICONE

SEALANT & 3/4” DIA. OPEN CELL
BACKER ROD (TYPICAL)

/5" DETAIL

@ SCALE: 6" = 1’

PTC PRODUCT DESIGN GROUP, LLC
PO BOX 520775
LONGWOOD, FLORIDA 32752

el ——
r ' . y FBPE C.A. NO. 25935

Phone: 321.690.1788,Fax: 321.690.1789
Email: info@ptc-corp.com

Kistler McDougall

DIMENSIONS ARE IN INCHES
TOLERANCES ARE:

FRACTIONS DECIMALS ANGLES

CONTRACT NO.

MITSUBISHI CHEMICAL COMPOSITES
AMERICA, INC.

1132 XXt 01 12
XXX 005

APPROVALS

DATE

RJ 4/14/17mmmm

A
RJA4/24./14|urosme o curmenr epmon or THe Fac
RJA6/10/12|veoxte 1o 2010 roc

TH [1/716/12|srmmes rusncs we wmmes amecn.

MATERIAL

FINISH

DRAWN

ENGINEERING
MS

11/11/02

ALPOLIC and ALPOLIC/fr
COMPOSITE WALL PANEL SYSTEMS

PROJ MGMT

TH 9/04/09':-1 PE SOWTUIE BLOCK

BIno|o| oo

ol
a
=2

By | oae | chance

DO NOT SCALE DRAWING

PRODUCTION

SIZE | CAGE CODE DWG NO. REV

MPCA0002 6

SCALE_SHOWN] [sHeeT 5 OF 11




HS
1.500
.750 .750
¢ SYM.
; |
C D
.093 \FULL R®
|1]_-125
1.608 !
1.688
-063 , 125 R?
1\« -
! L | LI
.080 | .250
BREAK CORNERS .015 R
EXCEPT AS NOTED
ACTUAL SIZE
DIE DATA
EST. AREA: .430 DIE SIZE: 6
EST. WEIGHT: .516 NO. HOLES: 1
EST. PERI.: EXT. LENGTH: 5 1/8" =1 @ 35
FACTOR: R/R:

HR
1.600
250 1.080
2.125
¥FULL R®
BREAK CORNERS .015 R
.090 TYPICAL METAL THICKNESS
ACTUAL SIZE
DIE_DATA
EST. AREA: .465 DIE SIZE: 6
EST. WEIGHT: .558 NO. HOLES: 1
EST. PERI.: EXT. LENGTH: 5 1/8 =10 36
FACTOR: R/R

| 1.500

\ .031 R.Q

ro|w|s|ul o)

]
il
=

1.770
BREAK CORNERS .010 R
.100 WALL THICK TYPICAL
ACTUAL SIZE
DIE DATA
EST. AREA: .317 DIE SIZE: 6
EST. WEIGHT: .380 NO. HOLES:
EST. PERI.: 6.54 EXT. LENGTH:
FACTOR: 17 R/R: 5 1/8 =1 @ 53
Digitally
signed by
s, Robert J
: PTC PRODUCT DESIGN GROUP, LLC
—u LONGVS(C))(?S,)?E(Z)OJI;SA 32752
=& | 0
Email: info@ptc-corp.com
16:31:18 Kistler McDougall
ONIESS OTErIeE SPECT D TR, MITSUBISHI CHEMICAL COMPOSITES |
oo pEcwALs Aaies AMERICA, INC.
Robert J. Amoruso, P.E. 182 iéx: '311)5 o APPROVALS DATE
FL P.E. No. 49752 Ty ’ s ALPOLIC and ALPOLIC/fr
DR 202 i sveemr——————| COMPOSITE WALL PANEL SYSTEMS
TeURIST PLASTICS wAS FETSIBIST GENICAL PROJ MGMT SIZE | CAGE CODE DWG NO. MPCAQ002 REV
T — DO NOT SCALE DRAWING e SCALE _SHOWN] [sieer 6 OF 161




EST. AREA: .275
EST. WEIGHT: .330 NO. HOLES: 1
EST. PERIL.: 5.831

1.500

562 |.188 .750

.063 R
063 os;\ 004 R—\
| bl

1 |
I - 1 AN
.063 |
.094 R |
1.440%
CRITICAL
1.251%
CRITICAL !
| [.125
.6875 .6875
ACTUAL SIZE
BREAK SHARP CORNERS .005 R
DIE DATA

DIE SIZE: 6

EXT. LENGTH: 4 1/2 =
R/R: 5 1/8” = 1- 62’

1- 46

EST. PERI.: 9.900

F2

Digitally
signed by
Robert J

= 2022.03.17
16:31:58
-04'00'
Robert J. Amoruso, P.E.
FL P.E. No. 49752

JA[4/14/17 W& CHNGE "o MTSURSHI GHENICA

UNLESS OTHERWISE SPECIFIED

EXT. LENGTH: 5 1/8 = 1@34’
R/R

2.438
.688 250 -250
188 ||
®
.063 .062 R. 120 ’ﬂ
! Il \J T .314
.214 !
214 C f
112 & X .276
éﬁ;ﬁgL g | 003 R, 078 R.
CRITICAL .031 R. 6 PLACES 1.1
.125 .750 .500
ACTUAL SIZE
BREAK SHARP CORNERS .010R
DIE DATA
EST. AREA: .484 DIE SIZE: 6
EST. WEIGHT: .581 NO. HOLES: 1

— 90° X .006

GROOVE

Vg 7 =

Phone: 321.690.1788,Fax: 321.690.1789|

PTC PRODUCT DESIGN GROUP, LLC

PO BOX 520775
LONGWOOD, FLORIDA 32752
FBPE C.A. NO. 25935

Email: info@ptc-corp.com

DIMENSIONS ARE IN INCHES
TOLERANCES ARE:

FRACTIONS ~ DECIMALS

CONTRACT NO.

Kistler McDougall

MITSUBISHI CHEMICAL COMPOSITES
AMERICA, INC.

R JAl4/24/14|woare 1o e cumment eoman o e e

RJA[6/10/12 [veoate 10 200 F2c

B |=|row|un] oy

TH 1/16/12 | MITSUBISHI PLASTICS WAS NITSUBISHI CHEMICAL|

ALPOLIC and ALPOLIC/fr
COMPOSITE WALL PANEL SYSTEMS

SIZE

TH [9/04/09|ADDED PE SIGNATURE BLOCK

B | oae CHANGE

)
m
2

5 ¥ +
32 ;ix : _8(1]5 ' APPROVALS DATE

VATERIAL DRAWN
ENGINEERING

e MS 11/11/02
PROJ MGMT
P TN

DO NOT SCALE DRAWING RopucTa

CAGE CODE

DWG NO.

REV
MPCAQ002 6

SCALE_SHOWN]

[sieer 7 OF 11




150 1/2"

5-8 1/2"

FRAME OUTSIDE DIMENSION
\ 14'-9 1/2"
11/2 — 11/2"
FRAME INSIDE DIMENSION -
12
1/2" PANEL DIMENSION | 1/? PANEL DIMENSION /27 ||
«
= ADDITIONAL STUD @
- AT PANEL JOINT‘\ S
| 1 1 | T 1 [ T 1 1 1 1 [ |
| (| 11 \: (I 11 [l (I 11 (| 11 11 |1 |
| |1 (| |1 (| (| |1 (| |1 (| (| |1 |
| I ! i ! ! i ! ! i
=Q"_' | | | STIFFENER — || | I I | I | I | I |
— | |1 (| | |1 |1 |1 |1 (| |1 (| (| |1 |
| (| /I | | (I (| [l (I 11 (| 11 11 |1 |
-t — -+ —— - —tt-—— -t —— - ——f4—— - ———Fb— - —— A4~ --—— -t —— -~ - —— - - —--—H
i e e I | e e A S e I e ey I et B I B I B i N I H A
= | |1 (| | |1 (| a (| |1 (| |1 (| (| |1 |
% o . | |1 (| | |1 (| (| |1 (| |1 (| (| |1 |
= . | &> | | R I 1 \9/ 11 I || | || || N |
= 9"’5~' | | I STIFFENER (| | |1 (| (| |1 (| |1 (| (| |1 |
L |2 = - | I /II | I I I I I I I I N |
a ~ | = | |1 (| | |1 (| (| |1 (| |1 (| (| |1 |
o |2 . I T A I 1| O I ) AN O U A S N AN [ A I H N B N I MU
A i T e | N e e e L R
s =g |° . JoN| LD i i i i i I
s |5 o7 O |l o I i i i i i D
= ~ | =
é é > w | |1 | 10 | |1 (| (| |1 (| |1 (| (| |1 | w
o | I I | I I I I I I I I N 1l | oPPOSITE
| (| [ | |1 [ [ |1 [ (| [ [ |1 |
- L0 o i | i i | | | | o
gz ||l | A . A > R SR i L
s |
I Z& | | I |1 I |1 I || | || I N |
— o= | | (| | |1 |1 |1 |1 (| |1 (| (| |1 |
- | (| 11 | (I (| [l (I 11 (| 11 11 |1 |
‘ | | :\ (| | |1 (| (| |1 (| |1 (| (| |1 |
S b L L L L L L L L L !
\ /
2 \ f 1
N N 246 - 16 GA_METAL STUDS @ OPPOSITE Digitally
= @ 16" 0.C. signed by
Robert J PTC PRODLJS'I'B(I;E(S;;BOI\;%ROUP, LLC
Amoruso & oo
THE WOOD BUCK FRAME DETAILED IN THIS DRAWING Date: Pons 21480768 Fac 21 801789
IS FOR TEST PURPOSES ONLY AND IS NOT INTENDED 2022.03.17
AS A RECOMMENDATION FOR ACTUAL CONSTRUCTION. 16:32:15 SAF METAL FABRICATION
PANEL ELEVATION tpmmope | FES Y ANERICA, NG
n 1 AN FLP.E. No. 497’52 MATERIAL = DreAV\/:me/ALS - ALPOLIC and ALPOLIC/fr
3/4"=1"'-0 6 TRIAT 4/14/17 [ B oo | COMPOSITE WALL PANEL SYSTEMS
5 [RJA | 4/24/14 |VPONE To THE CURRENT EDMON OF THE FBO R MS 11/11/02
g ?IJ_I:IA 16;::;:: Il:;n:::'l- —— PROJ MGMT SIZE | CAGE CODE DWG NO. REV
2 | TH [ 8/04/09 [woem re sovmse mox PRODUCTION B MPCAOO2 6
Rev. | By | pate CHANGE DO NOT SCALE DRAWING SCALE SHOWN [sieer 8 OF 11




ATTACH EACH STUD TO TRACK

H et 06" 70 MAN STRUCTURE W aibex Tex”Scrtne
- w BU”'T[\)AI’-:())( 2-5:)'( EiCRglng THE WOOD BUCK FRAME DETAILED IN THIS DRAWING
) IS FOR TEST PURPOSES ONLY AND IS NOT INTENDED
CONI\%E():(T 1 FORAV'\\IAOEOQO(E;BEI(_:I_IFERFRVCM_Ex AS A RECOMMENDATION FOR ACTUAL CONSTRUCTION.

(3) 5/16" DIA. LAG BOLTS \

DOW CORNING *795 SILICONE
le" = T ‘
9/16 )(( o >| 2 — \
N H ::::::9\ S i |
/?— \1 #12 x 1 1/2” HWH TEK SCREW

SEALANT & 3/4” DIA. OPEN CELL
BACKER ROD (TYPICAL)
/ 16" 0.C. (FASTEN TO STUDS)
2 1/4
#10 x 1" HWH TEK SCREW 1" MIN/ — 37899 MALE
: ALUM. EXTRUSION

16" 0.C. TYPICAL EACH PANEL PLASTIC SHIM SPACE SHOP ATTACHED
(AS REQUIRED) TO PANEL (TYP.)
i \ 10 x 1" HWH TEK SCREW
_/ 37893 TEE 16" 0.C. TYPICAL EACH PANEL
4MM OR 6MM ALPOLIC ALUM. EXTRUSION
OR 4MM ALPOLIC/fr 2 1/4” SHOP ATTACHED
ALUMINUM COMPOSITE MIN. TO PANEL (TYP.) |
PANEL \ - ,
6" X 16 GA. é = | \
g;é,l'_vb‘g'.l'EEL STUD Y i : #12 x 1 1/2” HWH TEK SCREW
/ ey 16" 0.C. (FASTEN TO STUDS)
1/2"
)¢
1 DETAIL S
\\9/ SCALE: 6" = 1’ i PLASTIC SHIM SPACE
(AS REQUIRED)
BACKER ROD .
AND  SEALANT - 118
6” X 16 GA.
g%?ggﬁm GALV. STEEL STUD
N 16” 0.C.
| 37894 FEMALE
ALUM. EXTRUSION
SHOP ATTACHED
| TO PANEL (TYP.)
——
ATTACH STIFFENER TO PERIMETER ] .
EXTRUSIONS ON EACH END WITH #12 x 1.1/2" HWH TEK SPACE %%, m JOINT DETAIL
#10 x 1” HWH TEK SCREW A 16" 0.C. (FASTEN TO STUDS) /{;“: 3 . ’
/ "t w SCALE: 6" = 1
3
DOW—CORNING *1199 s
SILICONE SEA?_ANT | ——PLASTIC SHIM SPACE 5
| N (AS REQUIRED) 3
PTC PRODUCT DESIGN GROUP, LLC
M M M PO BOX 520775
6 % 16 G Digitally signed by V7 =i
. FBPE C.A. NO. 25935
gBE?:Z?\IAER GALV. STEEL STUD Phone: 321.690.1788,Fax: 321.690.1789
16" 0.C. RObert J Amoru SO Email: info@ptc-corp.com
, Date: 2022.03.17 SAF METAL FABRICATION
.29. na' [ONLE=S OTHERIE SPECTED CONTRACTNO. MITSUBISHI CHEMICAL COMPOSITES |
2 1/4" MIN—] 16:32:32-04'00
FRACTIONS DECIMALS ANGLES AMERICA, INC.
Robert J. Amoruso, P.E. R APPROVALS DATE
2 STIFFENER DETAIL FL P.E. No. 49752 T e ALPOLIC and ALPOLIC/fr
W SCALE 6" = 1 g ;jﬁ:ﬁ;z:Zm‘n“mmw“m e COMPOSITE WALL PANEL SYSTEMS
= FINISH
g Eﬁ_? i//:gf:::“:'::::-_m PROJ MGMT SIZE | CAGE CODE DWG NO. REV
2 | TH | 8/04/08 [xom re snnc mocx PRODUCTION MPCADOD2 8
Rev. | BY | DATE CHANGE DONOT SCALE DRAWING SCALE_ SHOWN] [sieET 9 OF 11




THE WOOD BUCK FRAME DETAILED IN THIS DRAWING
IS FOR TEST PURPOSES ONLY AND IS NOT INTENDED
AS A RECOMMENDATION FOR ACTUAL CONSTRUCTION.

2 X10 WOOD BUCK FRAME
CONNECT FRAME WITH
(3) 5/16” DIA. LAG BOLTS

6” X 16 GA.
GALV. STEEL STUD
16" 0.C.

|

*12 x

1 1/2" HWH TEK SCREW

16" 0.C. (FASTEN TO STUDS)

SHIM AS REQUIRED

£

e
juiii]
<~ 37893 TEE .
ALUM. EXTRUSION 2 1/4
| SHOP ATTACHED MIN.

TO PANEL (TYP.)

1/2"

\4MM OR 6MM ALPOLIC

OR 4MM ALPOLIC/fr
ALUMINUM COMPOSITE
PANEL

CENTERLINE OF —= l=— CENTERLINE OF
METAL STUD PANEL JOINT
1
6" x 16 GA.
GALV. STEEL STUD
16” 0.C.
#12 X 1 1/2” HWH TEK SCREW
| 16" 0.C. (FASTEN TO STUDS)
SHIM AS
REQUIRED
L
o L 37894 FEMALE
— ALUM. EXTRUSION
2 1/4" 37899 MALE SHOP ATTACHED
MIN. ALUM. EXTRUSION L ] TO PANEL (TYP.)
SHOP ATTACHED g \E,
TO PANEL (TYP.) —ot# ’i"'ja El H— 716"
U g |
N =SV 1
1/2"

#10 x 1" HWH TEK SCREW
16” 0.C. TYPICAL EACH PANEL

Digitally
signed by

—— DOW CORNING *795 SILICONE
SEALANT & 3/4” DIA. OPEN CELL
BACKER ROD (TYPICAL)

#10 x 1" HWH TEK SCREW
16" 0.C. TYPICAL EACH PANEL

DOW CORNING *795 SILICONE
SEALANT & 3/4" DIA. OPEN CELL
BACKER ROD (TYPICAL)

7“4\ DETAIL
w SCALE: 6" = 1

2022.03.17

75\ DETAIL

w SCALE: 6" = 1° F'_‘—

PTC PRODUCT DESIGN GROUP, LLC
PO BOX 520775
LONGWOOD, FLORIDA 32752
FBPE C.A. NO. 25935
Phone: 321.690.1788,Fax: 321.690.1789
Email: info@ptc-corp.com

16:32:45 SAF METAL FABRICATION
-04'00' S R SPECKIED CONTRACTNO. MITSUBISHI CHEMICAL COMPOSITES
TOLERANCES ARE:
FRACTIONS DECIMALS ANGLES AMERICA, INC.
Robert J. Amoruso, P.E. R APPROVALS DATE
FL P.E. No. 49752 e SR ALPOLIC and ALPOLIC/fr
6 ;‘JA 4/1 4/17 mmmm
8 [RIA/2/Hrow wre T | L R COMPOSITE WALL PANEL SYSTEMS
4 “'A 6/1 0/1 2)UPoTE T 20 e PROJ MGMT SIZE | CAGE CODE DWG NO. REV
R A e — .
Rev. | BY | DAt CHANGE DO NOT SCALE DRAWING rropueon SCALE_ SHOWN] [sHeer 10 OF 11




—— 1.001"
243" —

= —

.047
16877 |LL 74
b s

oo
. —t{|~— .094
1 ——

——

ACM TERMINATOR

EXTRUDED ALUMINUM 6063-T6

Die Data: #SAF—37893
Area = .265

Wt./Ft. = .318

Perim. = 5.483

Circle Size = 0-3

Ix = .078, ly = .011
Sx = .070, Sy = .018
Cgy = 1.116, Cgx = .628

— 1.935" |=—
|

997" A7
.3!8” ___J— —
—_ &

1.688" f f
, 1.024"7
712

125" —]|— f f
ACM FEMALE

EXTRUDED ALUMINUM 6063-T6

Die Data: #SAF—37894

Area = .499
Wt./Ft. = .599
Perim. = 9.154
Circle Size = 0-3

Ix = .100, ly = .161
Sx = .086, Sy = .120
Cgy = 1.160, Cgx = 1.348

831"
i | !
t 999 L 1a72"
673"
f J_|
— 1.552" |—

RETAINER

EXTRUDED ALUMINUM 6063-T6

Die Data: #SAF—38499A
Area = .4610

Wt./Ft. = .542

Perim. = 9.4387

Circle Size = 0-3

Ix .095, ly 1262
.09, Sy 17

914"

) f

9 1.288"
735" ‘

f—»|——.125”

ACM MALE

EXTRUDED ALUMINUM 6063-T6

Die Data: #SAF—37899

Area = .234

Wt./Ft. = .281

Perim. = 4.646

Circle Size = 0-3

Ix = .039, ly = .012

Sx = .048, Sy = .019
Cgy = .819, Cgx = .633

| ";“»,\\‘

Digitally signed by
Robert J Amoruso
Date: 2022.03.17
16:32:56 -04'00'

Robert J. Amoruso, P.E.
FL P.E. No. 49752

.188"
R

f 1.251” |
— 175" %——

PANEL STIFFENER

EXTRUDED ALUMINUM 6063-T6

Die Data: #SAF—38500B

Area = .325

Wt./Ft. = .390

Perim. = 9.749

Circle Size = 0-3

.081, ly = .049
.120, Sy = .056
Cgy = .676, Cgx = .886

PTC PRODUCT DESIGN GROUP, LLC
PO BOX 520775

A AR | )\G)/00D, FLORIDA 32752
Y =l A L FBPE C.A. NO. 25935
Phone: 321.690.1788,Fax: 321.690.1789
Email: info@ptc-corp.com

RIA | 4/14/17 | Sttt ot o

RJA | 4/24/14 |veoate 10 cuwrent Evern oF e e

RJA | 6/10/12 | s ro 2010 rec. s sooen rom s oonsns

i |a]on|o]

ol

V. BY DATE CHANGE

SAF METAL FABRICATION
DIMENSIONG ARE N INGHES CONTRACTNO MITSUBISHI CHEMICAL COMPOSITES
TOLERANCES ARE:
FRACTIONS DECIMALS ANGLES AMERICA, INC.
1 ;;X : gg}ﬁ +n APPROVALS DATE
MATERIAL DRAWN ALPOLIC and ALPOLIC/fr
4MM & 6MM ALPOLIC
& 4MM ALPOLIC/r ENGINEERIG COMPOSITE WALL PANEL SYSTEMS
Ee MS 1111102
PROJ MGMT SIZE | CAGE CODE DWG NO. REV
MPCA0002 6
PRODUCTION
DO NOT SCALE DRAWING SCALE SHOWNl | SHEET 1 OF 1




	MPCA0002_Sht 1_Rev6.pdf
	MPCA0002_Sht 2_Rev6.pdf
	MPCA0002_Sht 3_Rev6.pdf
	MPCA0002_Sht 4_Rev6.pdf
	MPCA0002_Sht 5_Rev6.pdf
	MPCA0002_Sht 6_Rev6.pdf
	MPCA0002_Sht 7_Rev6.pdf
	MPCA0002_Sht 8_Rev6.pdf
	MPCA0002_Sht 9_Rev6.pdf
	MPCA0002_Sht 10_Rev6.pdf
	MPCA0002_Sht 11_Rev6.pdf

		2022-03-17T16:30:22-0400
	Robert J Amoruso


		2022-03-17T16:30:33-0400
	Robert J Amoruso


		2022-03-17T16:30:44-0400
	Robert J Amoruso


		2022-03-17T16:30:54-0400
	Robert J Amoruso


		2022-03-17T16:31:06-0400
	Robert J Amoruso


		2022-03-17T16:31:18-0400
	Robert J Amoruso


		2022-03-17T16:31:58-0400
	Robert J Amoruso


		2022-03-17T16:32:15-0400
	Robert J Amoruso


		2022-03-17T16:32:32-0400
	Robert J Amoruso


		2022-03-17T16:32:45-0400
	Robert J Amoruso


		2022-03-17T16:32:56-0400
	Robert J Amoruso




